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Factor B: Fullness

Empty Full
n=20 X — 22 n=20 X =15
Normal T=440 T=300 I‘:‘hmrmill = 740
SS=1540 S$S=1270
Factor A: — —
Weight n=20 X = 17 n=20 X = 18
Obese T=340 T=360 Tibese = T00
S$S=1320 SS=1266
G=1440
Tompty = T80 | Trun = 660 N=80
VX2 = 31836
X, =18




step 1. Build hypotheses

Weight2| 7} : Normal?l A}2t1} Obese?l AR AMO|Ol= F2HF{ ™
ol xto|7} U= ZOILC}.

A7 : NormalQl A2t} Obese?l Algl AlOOll= F2fF{ = X0 XI0[7}
giE Zojct.

rir

X

Fullness2| 7} : Empty2l AIEtE} Full@l AFEF ALOJOIE F2i7] HE X0
o171 U= ZAo|cC}.

27} : EmptyQ! AIRHEF Full?l AR AlOJOfl= F2i7 HE £=xl0 xt0|7} g1
& 2l0ict

MSEZ I £ 2921(Weight} Fullness)is M2 ASZAIL 243 0f
Ars a0l oja S0l HE SR|0 X017 U 2Ho|Ck.

Aotd : &£ 292(Weight?} Fullness)lil= MZ &SEA7l 813 weightl}
Fullness?| Z}Z} 202102t Je2f7 M= +x[ofl x{0[7} UAS Zi0]C}.
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step 2. Locate the critical range for F-ratio. calculate the /=

df

1, dfiotal = 79(N-1 = 80-1)

2. dfwithin = T6( ¥ df cach treatment= 19%4)

3. Ufbeiween = 3(79-76 Ei= 1@ 401 40A 18 HE EUh)

4. U4 =1(numberof 1 O elsof A — 1 =2-1)
5. 4/B = 1(number of levels of B— 1 = 2-1)

6. U125 = 1(dfyerween — dfa — dfy, = 3-1-1)



Compute F-ratio

SS
1. H-g.'r.l.'rn'
X, =18
X, =324
N =8l )
N % [T_‘J 25920
_?
yx? * (X, ) = 31836 — 25920 = 5916 = 5916
2. ~L.JI~L-JI||'.I'.'.’|.I'H

F’I-C’.ll'.f.'.rl.fn - -C’.F’Ill'.f.'.’l.fn = 1540 +

3. ~L.JI~L:’I|’:r.'||'rrJr = SStotal—SSwithin = 520
N 2 2 2 2 2
4. 5S4 = Z(TA) _ 6% _ 7402 | 7007 _ 1440
N 40 40 80
5. SS5 = Z(TB)Z _ G* _ 7180% + 6602 _ 14407
- N 40 40 80
6

- B
. 55428 = SSpetween — SSa —

MS
= S5 _ 20 _
1. M54 = it L 20
G = 5SB _ 180 _
2. MSgp = i, = 1 180
SSag __ 320 _
3 ULJ'lr —m— 1 —320
4. _'\j.ch'['[',:',l,h,f” - SSwithin — 5396 — 71
dfyithin 76
F-ratio
) MSy 20
1. Fu = —— = — =0.28169014084
Msl\l;lvéthin 71
2. Iy = B = 189 = 5 53521126761
B T
3. farp = AB = = 4.50704225352

Swithin

1270+ 1320 + 1266 = 5396 = 5396

= 13690+12250-25920 = 20

= 15210+10890-25920 = 180

SSg = 520-20-180 = 320



Table 1. Mean number of crackers eaten in each treatment condition
Fullness
Empty stomach Full stomach
Normal M=22 SD=9.00 M=15 SD=8.18
Weight
Obese M=17 SD=8.34 M=18 SD=8.16
Table 2. Result
Source SS df MS F
Between treatment 520 3
- Factor A (weight) 20 1 20 0.28
- Factor B (fullness) 180 1 180 2.53
- A x B interaction 320 1 320 4.50
Within treatment 5396 76 71
Total 5916 79
weigth x fullness factorial design
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3. BAIEI=0l HAE U2[M. (15) #&=: F distribution
Table

4. Egt 1 dilE tFsiMR.(35)
3gim 4 25 BN Of2Holl 7|EstASLICE.

M g9 EE o £ US0]

Fa £ 0.280|11 Fpe 2.53, Fa.ne= 4.50 JL|C}. 2|2 0]0f w2l Fis
1 2C} =10 22X £X[0|22 SHE=o=2 o|n|7l 3X| ¢Cla E =
1, LIHX|= 2|of7t QIct & 5 UXIT 7|1&ER F. = HIOIES
0|=st0{ ol EOfA{ H|E s 2O0lof BIL|C}. M A 25
Feoit(1,76) 22 ZA F51H E|l=0l(M B 25 76 - denominator, 1
— numerator 2 Z28 =) HO|E A0 sHEEl= 76 0] gieB =2 LAlsH
Feie (1,60)22 FSHEM 4.0 0] LI2A ELICL. 2|3 0|S
Ejstzicoz A2 Lz{EH Weight 2211} Fullness 2212 BE
F(1,60)EC} zooz AHIIM(Q] stepl Ol 7|&35IHSLICE)S £AGHX|
25HA k| F 291 222 J2f7] MF X0 HEReE HES
O|IFICI 2 = A ELiCt. SHX|8F Fa.s& CHSLICE 4.0 ECF 2
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Zhof| AS=kZ0| fictn st 7HMol AHIIM(S] step1 Ol 7|=6HISLICE)
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